(618) |

Why Elis works..

(o=l = G

{ -4 1 -6 4o %
{1 1 -4 =(a 6 Lf)
L 1 1 5 9 7
! [
‘)(Iltﬂ'fl\) ,—{;o‘&)
(3u5) [ =(§'9;'-

1 2 97rL -4 L7 /* i 2 9 ! (i)ti 1 1]
"5 ! 5”1 { -i]-(u“:‘g ) 5] ((g)ti { -i])
6+ bl & 4] \* 6 F B (§)-['Lii] }
[§) 14 -+ 13 e \
/( [5) 01 L -i]) T 13]\ /( J1g 2 -27- (Z).[_éia&”
)L 220 [ E)g991°
(3) 1 -1 11 X
(lé‘)'ti t -U)-[s 45] (i)'w”]
[3) -4 £ 47 X
(3) €4 -4 1] (g\-['é‘f)?]
((g‘)-u t41).067¢]"
\ [3) -4 £ 27 ) /
14 (4
(-6 o g]:( 1(1 -i)[i 291,
LN
h 2 )
/(1[1 291 (i[i 291 -4 L1 ’.Liﬂ\
4, L L

I

=1 14+2:)49-|
=-b

x-1 +y-1+21
Xl4y-diz2-]

X1ty -d+21




0 M Q- 56 S 7  \what is Q‘?

-Sm P WO
R -I-[41]
a b -I_ I d -b )
. A-—-{L d] 1 A - Y -(-(_ a) ) dekA=a)- be

Q:i [wﬁe—sm. %) |

+Sm O €056 Yok Q0
= 5in 0 |
+ Jet R = €056 vside - L

(A4

3 'l']-[g“o [[Il][][l!][g]]. 33
([ | lQ) {[[Il][][lll ¥ [ ]
[{nn[]tm B [ 0 12 0o L1
(0303 oo BBN0) (009030 oo 803

I
30013 | 2 ]"OM] 3L ,][]+3E,,][0T
3-EHJ-[2]+0[%[3 3oy [3]v o0 [3)

_1

o [i] 3 (wnlilanlal)
3[\!][] 3-([\!]-[%]+['l]-[3]) |

2
19 I8




99 07
(I R
_ -1 929 9 _

WO w

].wm stotenet is valid ?

L9 93 ,,l T AY
A ALl -
A, AT C
lr)) CT BTAT
C. BATC /'\SXQ, , Blm, ) C3x|
U U Y
PATC— T T T
Ap_x} 89_)(01 %3
5. (Ap-C) -7 ]
A 5 ;
h AI
| m
Amxr\ BV\M’ P xq l\ ™M .
T l
mxv\:) A —an —
T T T T
B 3 8o [(AB-0) =y Bogn Ane
T
pxg 3 C

b Ay » ATB and EA" are both well-defined. What ore Uee

dimgngions of 7 b 3 x4

.
A3xq - Aug an A Nn=3

T
B A A m=y
w3



X+ oL W= ‘j.
1. F]ﬂA d SM {;M xt—'XQJ-?)Xb:-—'L MS no SOM'ONS
A% -2kt Xy =-2

R X9 Xz
X|+O(X2:'j- (‘I} 0:' 03“ ﬁ)QOOL (g @ %) i/)@’;l:rv
- \/_) o (o) ) =2V

Xi-Xa+3%3=-1L B -1 12 El
9.1(1‘9-1\2-}01)(3:—1 % —2 A -2 @ @ III - X}:ﬂ)
R X Xg . . N or A3
3 i -t (@M % o | *\9m _ (M- 3|
9 -2 L 12 0/ Aa2)at | 4 0 o 610

Deokt. _
_ O Ao = 2 N o *a A3 _
3 . (|I| -3

nrow: ) <-& 3 | -9

4 othervouw: | o2 0 4

-t =09 o=
I TN I |
Morr A3
1] - 3 I 7
0 o - -—)—?—)(3,0-_1 \(g,

g Whidh is true for HOWtogaxleows Sgslms of Linear Eguolions?

= A 7 2 —
A o.b sole 4 AQ’ O - Now Consider A( yp)=0- & o,d; 50l%
\ Ad + A3 Y0
—ﬁr?; jr-—v_!i O Homagergows
=0 -0 Aizo

K. -Ir‘@ S\é,StT(’/M \MQJJ; have no soﬂ,\z =
c. 4 sof 9 Ad=0gAlaK):- KA(a)ZB%}Kem %0 -nob-asals

D. we i £ob @ (i) uibh all 0i>0

9 ket & and b be solubions ko AX:V. When is B+b a solution?

ﬂaw $g3ten
—

C,ﬁoiw V=0 3 (51‘,5 ave Solikions 9 ath i a sofidion)

AR T 0 is homogpaesns
- - ”A&:O

a Solt 3 Aa-o

ESOQ@# Ab -0



X X X =b

Xy + 3K, - 5y =4 L3 e\(X\ [
{O- 50&)& 1| +q12—g.13:7 k’)(i Y ,ﬁ)(xq):(i)
-31.-'—} 12+913=-6 -3 - 9 X _6

A
@AW bto A
1 3 -5 Y a0l EI @ @ ~
La-s| 3 | |@0 9|~
319 16

@@ W I
@ Gowssion  Elimnekion

3 -5 | q i :L'I@—s_ y Y3 1o 4j-5
@ L )xa © : ;i )x'f O 1[4]-3] 3
Q -1 9 6 ®) |® 6 6 O+10 O 1|0
Deodt. l

row : oL 7] 3 OX+0% +0X3= O
x-:l(nwrow: 0l 6 |[-b (i o 4i-5

I —
+obhrvow: gl o 6| 6|79 L3 3)
0,0 Of o0

O1-4 _5) X1 =-9-ux3

~ Ay ¥ =9
x%’l ) Xpc 6

T
:(0 7|t3 3 | @ xa=343%
X3 = X3 <R
%, -5-ux3\ /-5 -4
o |= (3130 |3 |+x%(3 |)xe€R

X3 A3 +0 0 |



